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�

�4�
� � � � 29 3 4

24 cm
2 2

B b h
A

� � � �
� � � � � �

�4� 224 10
120 cm

2 2

D d
A

� �
� � � �

�

�

8�����
������������������
��	������������	
��
������	
��
(�
2 2 2 2 2 24 7 16 49 65 65 8,06 cma b c a a� � � � � � � � � � � �

Perímetro 4 7 8,06 19,06 cm� � � � � � 24 7
Área 14 cm

2 2

b h� �
� � � �

�

�

!
������	
��
�������������
	��
������������������(� 212 5
30 cm

2 2

b h
A

� �
� � �  �

.������	
��
���	��������	���������(� 212 10
60 cm

2 2

b h
A

� �
� � �  �

�

�

�4� 2 2 24 4 16 16 32 32 5,66 cmx a� � � � � � � � �

�4� 2 2 25 8 25 64 89 89 9,43 cmx a� � � � � � � � �

�

�

8�����
���������
�����
��������	��#	(�

2 2 220 12 400 144 256 16 cmc c� � � � � � � �

212 16 192 cmA� � � �

�

�

� �
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*�

�4�&����������������������	
��
���	�
	����������	�(� 68 24 2 2 10 cmx x� � � � � �  �

&���
�������

	������������	
��
���	�
	����������	�(� 2 2 210 24 100 576 676 26 cmy y� � � � � � �  �

�4� 210 24 240 cmA� � � �

�

�

&�����������

	��������������
�����������
 �.	�
	�������=����+����=�����→���=�
2

d
 �

�4�
5,3033

3,75 cm
2

l� � � � �4�
3,96

2,8 cm
2

l� � � � �4�
2,12

1,5 cm
2

l� � �

�

�

�4���=�
30 30

2

�
�=���1����� � �4���������
���(����=����+��������=���2����

� � � � � ������=�
� �14 12 4,9

2

� �
�=�9��������

�4���=�
40 42

2

�
�=�*�1����� � �4���������
���(�����=����+��*������=�������

� � � � � ������=�
� �75 47 45

2

� �
�=�����������

�

�

�4� Perímetro 5 8 40 cmP� � � � �

240 5,51
Área 110,2 cm

2 2

P a
A

� �
� � � � �

�4� Perímetro 8 10,71 85,68 cmP� � � � �

285,68 12,93
Área 553,92 cm

2 2

P a
A

� �
� � � � �

� �
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*�

�

�

:��;<:7:�=>?!(�

2 3 29,8 2
29,8 cm 19,87 cm

2 2 3

P a P
A P

� � �
� � � � � � ��

.�����
�����
��#

	
����
19,87

2,48 cm
8

l� �  �

@.AB<:7:�C:&=(�

2 8,5 250 2
250 cm 58,82 cm

2 2 8,5

P a P
A P

� � �
� � � � � � �

.�����
�������D�

	
����
58,82

9,8 cm
6

l� �  �

�

�

!�����������������	
��
����������
�������������
�����������	
��
����	�	������������#	(�
2 2 2 2

2 2 2 2 3 3
3

2 2 4 4 2

l l l l l
h l h l h

 � 
 �� �� �� � � � � � � � �� �� �� �� �� �� � � �

�

2
2 2

3 2 422 dm 3 4,62 2,15 dm
2 2 4 3

l
lb h l

A l l
�� �

� � � � � � � � � �

=�
��������������	����������������������������)����
(�

2,15
3 3 1,86 dm

2 2

l
h� � � �� � 3 3 2,15 6,45 dmP l� � � � �

�

�

� �
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*�

�4�.	��������	
��
������	
��
�'
����
��
�������
�������������
�������������������
��������	�(�

2

2 28 7,391 64 54,63 3,06 cm 6,12 cm
2 2

l l
l


 ���� � � � � � � ��� ���� �
�

.�����������
��#

	
���� 26,12 8 7,391
180,93 cm

2 2

P a
A

� � �
� � �  �

�4�.	��������	
��
������	
��
�'
����
��
�������
�������������
�������������������
��������	�(��

2

2 210 9 100 81 4,36 cm 8,72 cm
2 2

l l
l


 ���� � � � � � � ��� ���� �
�

.����������������

	
���� 28,72 7 9
274,68 cm

2 2

P a
A

� � �
� � �  �

�4�.�����������
��#

	
���� 28 14 16,9
946,4 cm

2 2

P a
A

� � �
� � �  �

�4�.�������������	��

	
���� 27,2 5 8,297
149,346 cm

2 2

P a
A

� � �
� � �  �

�

�

&����������������
������
����(�

2 2 2 26,794 2,6 6,794 6,76 6,28 cma a� � � � � � �

.���������� 25,2 8 6,28
130,624 cm

2 2

P a
A

� � �
� � �  �

�

�
2

2 2 2 27,43 5,4 9,185 cm
2

l
r a r


 ���� � � � � ��� ���� �
�

�

�

�4�.�����
�����
�����������
���
����	�
�������	�(�
2

2 2 2 26 3 27 5,2 cm
2

r
r a a


 ���� � � � � � ��� ��� �
 �

�4�
2

2 2 2 217,5 6 270,25 16,44 cm
2

l
r a a


 ���� � � � � � ��� ���� �
�

�

�

&����������������
(�
2 2 2 2

2 2 2 2 2 3 81 4
9 81 10,3923 cm

2 2 4 4 3

l l l l
l a l l l


 � 
 � �� �� �� � � � � � � � � � � �� �� �� �� �� �� � � �
 �

&�����������������(� 210,3923 6 9
280,5921 cm

2 2

P a
A

� � �
� � � �

� �
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��2�

�

*�

�

�4� 2 2 2·7 153,94 cmA r�� �� � ��� 2 14 43,98 cmP r� � � �� �

�4�&��������������������������	
��
 �8�������
����������������
��������8���

�����������	
��
������	
��
������
���
��	��������������
������
�������
���
	�������������������������������������(�

�1��=�
2

34,64

2


 ��� �� ��� �
�+����→����=��11�−��22�2*�→���=��1�

&��������������������������	
��
�������������������
�(�

�����
��=�
2 220 120

360 360

r� � �� �
� �=���*�9������ � �����	
��
�=�

34,64 10

2 2

b h� �
� �=�����������

&������������������������	
��
��������������
�������
���	�����������������
��	�
���������(�

��=������
��−������	
��
�=���*�9��−�������=������������

2 2 20 120
34,64 34,64 41,89 34,64 76,53 cm

360 360

r
P

� � �� �
� � � � � � � �

�

�
2 2

2135 3,817 360
3,817 3,24 1,8 cm

360 360 ·135

r r
A r r
� �� � � �

� � � � � � � �
�

�

�

�

� � � � � � � �

� � � �2 2 2 22 2
2

9 3 90
56,55 cm

360 360 360 360

R rR r
A

� � �� � � �� �� � ��
� � � � � �

�

�

�4���=���3���−���3���=��9���� �

�4���=��1�3���=��1���� �

�4���=� 2 25 2,5� �=����������=���3���+�5��3�����4E��−��π�=�����������

�4���=�����3�����=�9������� �

� �
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�91�

�

*�

�

�4�.���	������)����
�����������������
������������
����������������'���������

�������������,���	���������������

�����)����
(�
2

236
56,55 cm

2 2

r
A
� �

� � �  �

�4�.���	������)����
������	������
�����)����
����������������������
������)����
������	�����	
��
����������
(��

��=�1����3��π�+���3������(���=���������� �

�

� � �

FG<?C=��.�!=�G>H?G.C�=�

.�������������'�
��������������������������������	�����	
��
�������������������)����
�(�

6Triángulo SemicírculosA A A� � � �

8�����
������������������������������	
��
(� 2 21,3 1,2 0,5 mh� � �  �

=�)����������������'�
������(�
� �

2

20,22,4 0,5
6 6 0,6 0,377 0,977 m

2 2Triángulo SemicírculosA A A
��

� � � � � � � � �  �

FG<?C=��.7�C=!�

�
	���������������)	��������
	��	����,�������������
����	�	������
�'�
�������	������	
��
������������	
��
� ��
&���������(�

Triángulo Izquierda Rectángulo Triángulo Derecha arriba Triángulo Derecha abajo

216 7 12 14 5 7
21 28 56 588 17,5 84 745,5 cm

2 2 2

A A A A A� � � � �

� � �
� � � � � � � � � �

�

FG<?C=��.�!=��.C.�@=�

�
	��	��	�
�����)	�������
	��	�������������+������������
����	�	������'�
�������
������	
��
�����	������	
��
 �&��
�������(�

2
Triángulo Izquierda arriba Rectángulo Triángulo Derecha arriba

16 2 10 6
26 2 16 52 30 98 cm

2 2
A A A A

� �
� � � � � � � � � � � �

�

������
�
�����������

�

� �
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�9��

�

*�

�� ��

��

��

�4�6�������+�������
��	�
� �4�I�������+������	
��
����*1
� �4����

	�������������
���
��
��
���
��
,%�������

�

�

�

�

�

�

�

�4��

�

�4��

�

�4��

�

�

�

�4�C���������������������������
������������������ �

���+��
���	�������	���������������
�������� �

@�����
�������	�
�����
�������
��	�
������������	�	��	���������	�������������
�������� �

���+��
�������������������������������������	��
������
���	�
 �

� �

����
�E��

�E��
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�9��

�

*�

�4���	��
������������	'���	����

�
���
���������	�
�������������	'���	��������+��
����������������������
����
��	�
�������������	�	��
��
��	�
� ��

.����	�
�����	��������#	����������������������������	��
������������	'���	��� �

�

�4������	'���	�����
	�%	���������������
���������������%���������
���
������
� �

���+��
���	�����
������������	'���	�������
� �

@�����
�������	�
�����
�������
��	�
������������	�	��	��������
������
�������	'���	���� �

���+��
����������	'���	�����������
���	��
����������
���	����
��������������
�������	�
�����
�������
��	�
 �

�

�

�

�
���
���������
���������	�����	���������	�
�	��������	�
������"���
	��������������	
�	�� ��
���
���
�
�
��	��
������	�
�	������+��
����������	'���	���(�

�4�� �4�

� � � � ��

�

�

� �

��

��

��

��

��

��

��

��
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�9��

�

*�

.����
���
�
�%����
������������	��	��
 �

�4�� �4�

������ � � � � �

�

�

.����	��
������������	'���	������������	�������������������
��	������������
�������� �

�

�

�

��=���2*1
�=��*1
�3�5��−��4�→���=�
1980

180
�+���=����+���=����→�&������������	��
�)

	
����������
� �

�

�

�4� 180 3 540S� �� � � �� �4� 180 5 900S� �� � � � � �4� 180 7 1260S� �� � � �

�

�

� � 2 63
9 3 18 0

3 solución no válida2

nn n
d n n

n

� �� � 

� � � � � � ��

 �� �
�

�

66 180 4 720n S� � � �� � � �

� �

��

�� ��

��
��

�� ��

��
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�

�9��

�

*�

�

�4�� � � � � � � �4�

� � � � � � ������ �

�

�

� � � �

.���	
��
�����
	
���
��������J�+���J�=�*1J�

�

�

�4�
2 2

2 2 2 2

10 100

6 8 36 64 100

a

b c

	
� � 
��

� � � � � � 
�

�&)�����
�����
	��	��
	�����������������	�����	
��
������	
��
 �

�4� � �
2

2

2 2 2 2

5 2 50

5 5 25 25 50

a

b c

	
� � 

��


� � � � � � 
�

�&)�����
�����
	��	��
	�����������������	�����	
��
������	
��
 �

�4� � �
2

2

2 2 2 2

61 61

5 6 25 36 61

a

b c

	
� � 

��


� � � � � � 
�

�&)�����
�����
	��	��
	�����������������	�����	
��
������	
��
 �

�4�
2 2

2 2 2 2

7 49

3 6 9 36 45

a

b c

	
� � 
��

� � � � � � 
�

�7
�����
�����
	��	��
	�����������������	�����	
��
������	
��
 �

�4�
2 2

2 2 2 2

25 625

7 24 49 576 625

a

b c

	
� � 
��

� � � � � � 
�

�&)�����
�����
	��	��
	�����������������	�����	
��
������	
��
 �

'4�
2 2

2 2 2 2

5 25

3 3 9 9 18

a

b c

	
� � 
��

� � � � � � 
�

�7
�����
�����
	��	��
	�����������������	�����	
��
������	
��
 �

� �

���
��9�

��9���� *1�

*1�

*1�

�1�

��J�

��J�
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�

!�����

	���������	��������
�������
�������� 2 2 22 2d l l l l� � � �  �

!�����

	�������	��������
�������
����������� 2 2  �

!����	�
�����������

	��������������
��
��'����
���!���������
��������	�(�

�4�
2

2
2 2 2 2

d l l l
D L� � � � � ���8
����	�
��������
�������������������
��
�	��(����� �

�4� 2 2 2 2D d l L l� � �� � �� 8
����	�
��������
����������
��������
��
�	��(����� �

�4� 3 3 2 3D d l L l� � �� � �� 8
����	�
��������
��������������������
��
�	��(�9��� �

�4�
2

2
3 3 3 3

d l l l
D L� � � � � �� 8
����	�
��������
���������������������������
��
�	��(�

2

3
�� �

�

�

�4� 1 4 5 1 5 6 1 6 7EC EB EA� � � � � � � � � � � ����

�4� 4 4 8 1 8 3 9 9 18 18 16 34BD DA DF DE� � � � � � � � � � � � � � � ����

�

�

.�����
���������	
��
�������9�(���= ����� �

2 2 212 6 144 36 10,39 cmh h� � � � � � �

� �

����

��������������������������������������������

������������������������

��������������������������������������������

�����

�����
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�99�

�

*�

�
2 2 2

2 2 2 2 3 48,0249 4
6,93 6,93 48,0249 8 cm

2 2 4 3

l l l
l l l


 � 
 � �� �� �� � � � � � � � � �� �� �� �� �� �� � � �
�

�

�

2 2 27 2 49 4 6,71 cmh h� � � � � � �

�

�

2 2 245 18 2 025 324 48,47 cml l� � � � � � �

�

�

�4� 2 2 25 3 25 9 5,83 cma a� � � � � � �

�4� 2 2 24 8 16 64 8,94 cmh a� � � � � � �

�4� � �
22 2 26,7 2 44,89 5 44,89 : 5 3 cmh h h h� � � � � � � �

�4� 2 2 2 29,9 98,01 2 98,01: 2 7 cma a a a� � � � � � � �

�4� 2 2 26,5 2 42,25 4 6,18 cmh h� � � � � � �

'4� 2 2 23 1,5 9 2,25 2,6 cmh h� � � � � � �

�

�

� �
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�

�

�9��

�

*�

�

�

�

�

�

�

�4� 24,6 3,8
8,74 cm

2 2

b h
A

� �
� � � �

�4� 2 2 24,6 1,9 21,16 3,61 4,19 cmh h� � � � � � �

�

�

2 2
9 6 cm

3 3
h b� � � � �

29 6
27 cm

2 2

b h
A

� �
� � � �

� �
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�9*�

�

*�

�

.�����)����
�����	��������
�������
������������������������ �&����������������
��	�'�	��#	����������

	��(�

2 2 22 2
2

d
d l l l l l� � � � � � �

�4� 4 2 2 4 cmd l l� � � � � � 4 4 4 16 cmP l� � � � � � 2 2 24 16 cmA l� � � �

�4� 6 2 2 6 cmd l l� � � � � � 4 4 6 24 cmP l� � � � � � 2 2 26 36 cmA l� � � �

�

�

2 2 2

3 3·6 18 18
4,5 cm

4 4

4,5 20,25 cm

T T

C

C C

C C

P l
l

P l

A l

	� � � 

� � ��

� 
�

� � �

�

�

�

&����������������
�������
���������	
��
����������
(�

2 2 2
2 2 2 3 64 4

8 64 64 9,24 cm
2 2 4 3

l l l
l l l


 � 
 � �� �� �� � � � � � � � � �� �� �� �� �� �� � � �
�

2 2 2

3 3 9,24 27,72 27,72
6,93 cm

4 4

6,93 48,02 cm

T T

C

C C

C C

P l
l

P l

A l

	� � � � 

� � ��

� 
�

� � �

�

�

�

2 2210,25 cm 210,25 14,5 cm

4 14,5 58 cm

A l l

P

� � � � �

� � �
�

�

�

!����	�
������������������������	
��
��������	�(�

2 2 234 30 1156 900 16 cmh h� � � � � � �

� �
2

30 16 2 92 cm

30 16 480 cm

P

A

� � � �

� � �
�

�

�

� �
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�

�92�

�

*�

&����������������)����
��������������������	
��
(� � � 29 4 2 26 cm           9 4 36 cmR RP A� � � � � � � �

�4��

2 2 2 226 cm 26
6,5 cm 6,5 42,25 cm 169 cm Falso

4 4
C R

C

C

P P
l A l

P l

	� � 

� � � � � � � � ��

� 
�

�

�4��
2

2

36 cm
36 6 cm( 6 cm no es válida)

4 4 6 24 cm Verdadero

C R

C

C

A A
l l

A l

P l

	
� � 
� � � �� ��

� 
�

� � � � � �

�

�4�.�����������	������	
��
�����������	��
	����
	�����
��������
�����*�������*���������*�3�*�= ����������
����	�
��
����	�	����
����'���
 �

�

�

=���������������	�����	
��
����������
��������)����
������ = ��3����= ����� �

&���������������������
	�������������
��������8���

���(�

2 214 7 196 49 147 12,12 cmh� � � � � � �

�
	
����������������������������������(�

214 12,12
84,84 cm

2 2

b h
A

� �
� � � �

�

�

.�����)����
�����	��������
�������������������������
����	�
����	�������������������������
 ���������
��������
�
������	�
������
��������8���

���(�

2 2 2 2 2 16 384
128 2 16 384 2 90,5 mm

2
l l l l l� � � � � � � � �

.�����)����
���� 4 90,5 362 mmP� � �  �

.���������� 2 2 290,5 8192 mmA l� � �  �

�

�

2150 dm 20 150 2
150 15 dm2

2 20
20 dm

D d
A d

d

D

	� 

� � � �

� � � � ��


� 

�

�

&����������������
������
��
��
	�������������
��������8���

���(�

2 2 210 7,5 100 56,25 12,5 cml l� � � � � � �

.�����)����
������ = ��3������= �1����

� �
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��1�

�

*�

�

�

�

�

=�����	�
������
��������8���

���(�

2 2 2 210 8 36 6 cm                17 8 225 15 cmb B� � � � � � � � �

.	��������	
��
������	
��
���������
��*���������− 9�= 2�����������	�
������
��������8���

����������������������
�

�����
������������
 �

2 2Lado oblicuo 8 9 145 12,04 cm� � � � �

-��������	�	��
�
���
�����
�������������
�������������	�������)����
����������(�

� � � � 215 6 8
8 6 12,04 15 41,04 cm             84 cm

2 2

B b h
P A

� � � �
� � � � � � � � �

�

� �

.	��������	
��
������	
��
���������
������������
��	�����������������	�
������
��������8���

�������������������
������������������
 ��

2 215 12 225 144 81 9 cmh� � � � � � � �
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�

����

�

*�

.	��������	
��
������	
��
���������
�2���������
��	�����������������	�
������
��������8���

�������������������
��'���	���������	�������������������������
 �

2 213 9 169 81 88 9,38 cmd� � � � � � �

�
	��
����������������
�������������
���������+ 2��*�= ����*������������������������(�

� � � � 221,38 12 9
150,21 cm

2 2

B b h
A

� � � �
� � � �

�

�

�

�

�

�

�

�

2 2

2

67,24 cm 67,24 8,2 cm

4 4 8,2 32,8 cm

Diagonal 2 2 8,2 2 11,596 cm

A l l

P l

d l l

� � � � �

� � � �

� � � � � �

�

�

�

2

2 2

28,8
28,8 cm 4 7,2 cm

4

Diagonal 4 7,2 67,84 8,236 cm

A base base

d

� � � � � �

� � � � �

�

� �
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����

�

*�

�

2 2

2

3 3 15
9 cm

5 5

7,5 4,5 76,5 8,75 cm

4 4 8,75 35 cm

9 15
67,5 cm

2 2

D
d

l

P l

D d
A

�
� � �

� � � �

� � � �

� �
� � �

�

�

�

.	������D�

	
���
�����������
�����
�����������
���
����	�
������
�������(�

2 214 7 147 12,12 cma� � � � �

-�����������(� 26 14 12,12
509,04 cm

2

P a
A

2

� � �
� � �  �

�

�

&��������)����
�������D�

	
���
���������������������
�������(�9�= ����� �

&���������������
��������
	�������������(��

2 212 6 108 10,39 cma� � � � �

26 12 10,39
374,04 cm

2

P a
A

2

� � �
� � � �

�

�

!����
����������������
���������	
��
������	
��
��������	���
�����
��	����������
�������D�

	
����
�����
��
�
�����
�����������������
 �&����������������
(�

2 2
2 2 3 65,4481 4

8,09 65,4481 87,264 9,34 cm
4 4 3

l l
l l

�
� � � � � � � � �

.���������� 26 9,34 8,09
226,68 cm

2

P a
A

2

� � �
� � �  �

�

�

�4� 2 2 25 20 13,75
17 10 289 100 13,75 m             687,5 m

2 2

P a
a A

� � �
� � � � � � � � �

�4� 2 2 25 27 18,62
23 13,5 18,62 m               1 256,85 m

2 2

P a
a A

� � �
� � � � � � �

� �
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�

����

�

*�

�

�

�

�

�

2 2 290 90 13
90 cm 15 cm                15 7,5 13 cm             585 cm

6 2 2

P a
P l a A

� �
� � � � � � � � � � �

�

�

�4�
2 22

211
11 121 30,25 90,75 2 90,75 19,05 cm

2 2 2

AE AE
AE


 � 
 �
 �� �� ���� �� � � � � � � � � �� ���� �� ���� �� �� �� �� � � �
�

�4�.�����
�������D�

	
�������
�����
������������
�����

� 11 2 22 cmAD BE FC� � � � �  �

�4�5$����������
��4�� � �4�5$����������
��4�

�

�

28
215,75 cm 53,94 cm

2 2

P a P
A P

� �
� � � � � �

� �
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�

����

�

*�

�

� � �

�

�

�4��������
����
��−��������
���	
��−���3�����	
��
��

��=����−������−���3�
5 2,5

2


 �� �� �� ��� �
�=�9��������

�4�&�����+��
���
������	
��
�����������
������'
���	������D�

	
�����+
	���
�
������������������������������	
��
��
�
���
����������������������������������D�

	
 �!����
�����������D�

	
���������9�������������������������
���������������
�
������������1��*���� �

�4�&�����+��
���
������	
��
�����������
������'
���	������D�

	
�����+
	���
�
����������	�����	
��
��	���
������
���������
��
���
������

�����,�������
������	
��
������������������������������������D�

	
 ��
�
������D�

	
�
���	���	����
����������9���������������������������������������
�
�������������*���� �

�4�

�

�

�

�

�

2 2 213
2 13 6,5 cm                             6,5 132,73 cm

2
L r r A r

�
� � � �� � � �� ��� �

�
�

�

�

Diámetro = Perímetro de un rombo con 1 cm y 2 cm 4d D l� � �  �.	�
	���(�

2 2 2

2 2 2

1 0,5 1,25 1,12 cm                        4 4 1,12 4,48 cm

Diámetro 4,48 cm 2 2,24 cm                2,24 15,76 cm

l l P l

r r A r

� � � � � � � � �

� � � � �� ��� �
� �
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�

*�

�

33,93
2 33,93 cm 2 10,8 cm diámetro de la circunferencia diagonal del cuadradoL r r� � � � � � � �

�
��

2
2 2 2 210,8

10,8 2 58,32 cm
2

l l A� � � � � �

�

�

!�����
��	������������	
��
������	
��
�����#��������������������
������������	'���	�����	��������������	�����
 �&��
���������
	����
��������
����
	�%����������������)����
(�

2 2 223 23 1058 32,52 cm 16,26 cm
2

d
d d r� � � � � � � � �

2 2 216,26 830,6 cmA r�� ��� � �

�

�

2 2 2

2 2 2

4 6 52 7,2 cm 3,6 cm
2

3,6 40,72 cm

d
d d r

A r

� � � � � � � �

�� ��� �

�

�

�

.������
����
���������
�
	�����������
�������D�

	
�����
�������= ���
�������D�

	
�= ����K��������
���	
��������

�
�
	����������
�����������D�

	
(� 2 25 2,5 18,75 4,33 cma� � � �  �

.��������������
�
	����(� � � � �2 2 2 2 2· 5 4,33 19,63 cmA R r�� � �� � �  �

�

�

!������������������

	������������	
��
�������������������������
������������	'���	��� �&�����������������
(�

2 2 215 20 225 400 25 cm 12,5 cm
2

d
d d r� � � � � � � � � �

� �

2 2 12,5 78,54 cm
8,54 cm

20 15 2 70 cm
C

C R

R

L r
L P

P

	� � � �� � 

� � ��

� � � � 
�

�

�

�

.������
������������	'���	����������� �&���������������
������
	�������������
��������8���

���(�

2 27 3,5 36,75 6,06 cma� � � � �

� �
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�

*�

�

.������
������������	'���	�������������	������������D�

	
����������
�������D�

	
(��

2 2
2 2 3 81 4

9 81 10,39 cm
4 4 3

l l
l l r

�
� � � � � � � � �

�

�

.������
������������	'���	�����	���������������
�����������D�

	
(� 2 25 2,5 18,75 4,33 cma� � � � �

�

�

�

�

�

.������������������������	�����(�
2

24 45
6,28 m

360blancaA
�� �

� �  �

.��������������������������������(�
� �2 2

2
8 4 45

18,84 m
360amarillaA

�� � �
� �  �

.��������
������(� � � � � 26 6 6,28 18,84 150,72 mtotal blanca amarillaA A A� � � � � � �  �

�

�

� �
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����

�

*�

�4�.��������
����������'�
�������������������	�
�������������������'�
����(��	�����	
��
������	
��
���������
��������
��*�9������	������)����
��������
���������
��
������)����
��������
�������������������

	�����������	
��
����
�����
 �

8�����
���������������������
��	������������	
��
������	
��
����
	�������������
����������)����
����
������

2 2 2 2 2 14,76
12 8,6 12 8,6 217,96 14,76 cm 7,38 cm

2
h h R� � � � � � � � � � �

2 2
212 8,6 4,3 7,38

166,19 cm
2 2 2totalA
� �� ��

� � � � � 4,3 7,38 12 48,69 cmP��� ��� � � �

�4�!��'�
��������
��
	������	��
��
�������

	������9�����������	��)����
��������
�����������������
������
��
���
�
���������
� �

&����������������
�������
������
��
�����������������������������
������
���������
�K��
	�%��������������������
�
����
���
�������)����
������

2 2 2 2 2 10
8 6 8 6 100 10 cm 5 cm

2
B B r� � � � � � � � � � �

&������������������������
���������
������ 2 2 2 2 22 1,5 2 1,5 1,32 cmh h� � � � � �  �

� �2 210 7 1,3216 12
5 2 196,98 cm

2 2totalA
� ��

� ��� � � � �

.�����)����
���(� 2 5 4 2 2 7 53,42 cmP� �� � � � � �  �

�4�!��'�
��������
��
	������	������	
��
��������	��
	����������������	��)����
��������
��������	������)����
����
����
������ �

2
2 23,5

27 7 4 258,51 m
2totalA

��
� � ��� � � �

.�����)����
���(� 2 4 19 2 7 3,5 81,13 mP� �� � � � ��� �  �

�4�!��'�
��������
��
	������	�����	
��
����	��������
 �!����������
�������������
�� 6 2 3 12B� � � � ���
�	������
	�
�	
�����
�����
����������	
��
 �&������������������������
�����
��
�����
�������������
�����

2 2 2 2 23 4 3 4 5 ml h� � � � � � �

�
	������������������������
����������������������	
��
���������������������������
���
�����
���
����������
����	
��
��

2 2 2 2 26 2 6 2 6,32 mL L� � � � � � �

� � 212 6 4 12 2
48 m

2 2totalA
� � �

� � � �

.�����)����
���(� 6 5 2 7 2 6,32 28,64 mP� � � � � � �  �

�

�

� �
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��*�

�

*�

�

�

�

�4� 2 2 2 210 2 5 2 2,5 100 50 12,5 62,5 196,35 cmA��� � ��� � ��� � �� �� �� �� �

�4�.������
����
����������������
������������	'���	���������	��������� = 9��� �

.������
���	
����������������
������������	'���	�����	��������������(���=�������������������������������	
��
�

���������
����� + ������������������� = �� �

� � � �2 2 2 2

2
120 6 3

9 28,27 cm
360 3

o

o

R r
A
� � � � �

� � � �� �

�

�
2 21,5

160
360 360

o

o o

r� �� �� ��
�� ��� ��� �

�

�
2

2 240 8 360
8 72 cm

360 40

o o

o o

r
r

� � �
� �� � � �

�

�

�4�!�����������������	
��
�����������
������������	'���	������	
��������������������������������(���2��− 1�9��= �������

2
2 2 22,92 76 3,59 2,3

5,65 cm 4,13 cm 1,52 cm
360 2sector triánguloA A A

�� � �
� � � � � � � �

�4�
2

22 90 2 2
2 1,4 cm

360 2sector triánguloA A A
�� � �

� � � � ��� � ��

� �
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&���������������
�����������D�

	
(� 2 2 23,5 7 49 12,25 6,06 cma a� � � � � �  �

.����������������������D�����������������'���	�����	�����������������)����
�����������������D�

	
(�

� � 2 21 1 7 6 6,06
7 4,45 cm

6 6 2segmento círculo hexágono
A A A


 �� � ��� � � �� � ��� ��� �
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�

.������	�
������L�E�����
����������	������
�	�
����
����	�
������������������������	������������������
	���������
�����
��������8���

�����������	
��
���������
����������1�� �

2 2 225 30 625 900 39,05 mh h� � � � � � �

�

�

!
�����
�������
��
������	�����������������������
�����	�������	
�����
���
�����
���
	��	����������#	��������
�	�������
� �

!
�����
���������

������	�
64 12 2

20 m
2

� �
� ���
	��
�����������������1�3����= ��1��� �

�

�

�4��29���
�	����
	���*��
"��(� � � 2148 22 28,7 93 447,2 cm� � � �

�4�
2

2 2
2

480 000 cm
6 8 48 m 480 000 cm 5,14

93 447,2 cm
� � � � � �����
���������
��)���������������
��
	�������
��������
"�����������

������
"���������	���������9��������(�

2
21libro 93 447,2 cm

13 082,608 cm
0,14 libro

x
x

	
� 
� ��

� 
�

��
2

2

1hoja 631,4 cm
20,72 hojas

13 082,608 cm
y

y

	
� 
� ��
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�*1�

�

*�

�

!��'�
���������������"������	��)����
��������
�������������������� 2 213 530,93 cmA��� �  �

�

�

&�����������������
�����
������
�(� 2 615,75
615,75 14 cmPlatoA r r� ��� � � �

�
 �

.�����������������������������	���
�
	������������������
����
��������������
���	
�������(�

� � � �2 2 2 2 217 14 93 292,17 cmA R r��� � ��� � ��� � �

�

�

�

!����
�������(���=� 2 230 15 675� � �=����2*���

�@�D�

	
�=�
6 30 25,98

2 2

P a
A

� � �
� � �=�����*������

��������
�=��1��=�211����

�����	
��
�=�
30 25,98

2

�
�=��*2������

.�����������	����
�����(�����*���+�211�+��*2���=���9���2����

!���
����������	����
�������(���9���2�3��1�=������*�M�

-�����
����������
�
�������'���
��
�����(��1�3������*�=���9���211�

�

�

�

� �
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*�

�

�

�

�

�4� 228 6 24,25
2 037 m             Coste 20 2 037 40 740 €

2
A

� �
� � � � � �

�4� 214 20 280 m                        Coste 20 280 5 600 €A� � � � � � �

�4� � � � �2 2 2 2 211 7 72 226,19 m              Coste 20 226,19 4 523,8 €A R r�� � �� � � �� � � � �

�4� 218 12
108 m             Coste 20 108 2 160 €

2 2

D d
A

� �
� � � � � � �

�4�&���������	�������
��������������������������������

�����
���(�

2 2 2 29,43 5 63,9249 8                       6,4 5 15,96 4B b� � � � � �� � �

� � � � 28 4 5
30 m                  Coste 20 30 600 €

2 2

B b h
A

� � � �
� � � � � � �

'4�
2 2

290 1,5
1,77 m                     Coste 20 1,77 35,4 €

360 4

r
A
� � ��

� � � � � � �

�

�

� �
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�4� �4�
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�

*�

�

�

�

�

�

��= �1
�= ��= ��= �� � ��= �91
�� ��= ��*
�� ��= ��
�= ��= ��= ��

�

�

57
57 19 cm

3
P l� � � � � � � 2 2 29,5 19 361 90,25 16,45 cmh h� � � � � � �

�

�

2 156,25 156,25 12,5 cml l� � � � �

2 2

4 12,5 50 cm

12,5 12,5 17,68 cm

P

d

� � �

� � �
�

�

�

2 2

30 390 2
390 26 dm

2 30

15 13 19,85 dm

4 4 19,85 79,4 dm

d
A d

l

P l

� �
� � � � �

� � �

� � � �

�

� �

��

��

��

��

�� ��
�� ��

�� ��

��

��

�� ��
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�
2 2

2 2 3 625 4
25 625 28,87 cm

2 4 3

l l
l l

 � ���� � � � � � ��� ���� �

�

2

6 6 28,87 173,22 cm

173,22 25
2 165,25 cm

2

P l

A

� � � �

�
� �

�

�

�

.������
������������	'���	�����	����������� =�2�(���= ������ �

.������
������������	'���	���������	���������(�

2 24,5 4,5 6,36 cmR� � � �

� �2 2 26,36 4,5 63,62 cmA�� � � �

�

��
���������
���
�������� �!"�#$%"�&'($%$" "�

�

�

.	�������
�������
���	��������������
	����'��
����������������������������	�
�����

!����	�
�������������	������������
������	�
��
	������������
���������	��
�������'��
����������	�(�
2 2 26 11 121 36 9,21mh h� � � � � �  �.��
������
����D����
���	������	�
��������������������������������
�����������

��	
��
��
��������2����� �

� �
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�

*�

���������'��
���������"�	������������
�������������
��	��
����D��������������	�������	��������������
�������� �

.	������
�	�
����
���	�����������������	�
�������������	����������	�
��������
�������'��
����������"���������

���������������	�(� 2 2 24 10 116 10,77 mD D� � � � �  �.����������)����
���	��
����D������	�
�����

&�������������	���������������	�
��������
�������'��
������������	�������������(� 2 2 24 5 41 6,4 md d� � � � �  �

8
����	�
�������%	����
���	��
����D������	�
����

�

��	
���
�������	��	�����
������
���
������

�

.����
���
�
�%����
�����������
����	�
���������
���������	'���	��������������
���������
	���	��
��	���������
����

�

�

&�������������������������
 �

2 2 2 2
2 2 2 2 2 3 3 3

2 2 4 4 2

l l l l l
h l h l h h

 � 
 �� �� �� � � � � � � � � �� �� �� �� �� �� � � �

�

8
����	�
��������������������
���#	��4 �

�

�

&�����������
���������	
��
����������
�����������
������������
 ��

−�G
����	�
����)����
�(�
4

3 4
3Tr C

L
P P l L l� � � � �  �

&��������������D�����#	����������������������	
��
(�

3 4
3 2 32 3

2 34

3

l L
h

L
h

L
l

	

� 


� � ��



� 

�

�

&��������������������������	
��
�
���	�%	�
������������#	��
	��������������������
(�

2

4 2 3
·base altura 4 3 4 33 3

2 2 9 9Tr Tr C

L L

A L A A
�

� � � � � �

−�G
����	�
������(�

2 2 2
2 2

4

3
base altura 3 4 4 22

2 2 4 3 3 3
Tr C

l
l

l L L L
A A L l l

�
�

� � � � � � � � � � �

&����������������)����
���������	
��
�
���	�%	�
������������#	��
	�������)����
������������
(�

4 4 4 4

2 4 3
3 3 3 3

3 2 3 2 3 2 3
C

Tr Tr C

L L P
P l P P� � � � � � � � � �

� �
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�

*�

�

�

�

�

�

�

�
��	�
��������	
��
���������������
�
����������	
�����
��9�����	
��
���������'
���	����
�
��������������	�� �.��
������	
��
���
	��
����������	�
��	����D�������������������������

�������
�������'�����#	����
1

12
�

8�����������������
����'
���	�������	
��
���
����������������
���
�����������������
 �8
������"�	+���������	
��
��
��������
����
������
������	
��
���
�	������
	�������
������������
������������
���	
������
������	
��
��
�
�	������
	������������
������
���������
� �8
����	�
������	��
���	��������
��
	��	�����	
��
�'
����
���	�
�������
���%	���
�����
�
����
���
���
���������������
��
��������,���������������
���
�
�����
�
����
������

'�����#	����
1

5
 �

8���������
�	�
����
����
N	��
��D�����
��	��������������
���������	
��
��������������������������������
������

������������������
���
���
��������'�����#	����
1

20
 �
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�*��

�

*�

�

�
�
��	�������������
����#	�������������������������
	�����	
��
��'
����
���
������	�#	��������

�����	�����
���
���������������
1

12
�����
��������������'������+����������
�������������������

���	�
����'�����#	
1

6
 �

�

�
�
��	������
�	����
����#	����	��
���������,���	��������������
����	��������

������'�����#	���
2

5
 �

�

�

�

�

�

�

�

&��������������
����������
������)����
����
����E������������
�����
���
�������)����
����	
������������������
	(�

�

�

�
�
������������������
������)����
������������������������������������������
�������)����
�������	��������#	������
������+
	��������������
�����������+
	�����	������������D����
�����
�������)����
� �

� �
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*�

�	�����������

�

�

�4�!����	�
���������
	
������������������D����
��
������������
�����
���������	�(�

2 2 22 1,5 6,25 2,5 md d� � � � � � � � Longitud 1 1 2 2,5 4,5 md� � � � � � �

�4�B�����
����= 

=�B����������������������
�����
�����������×�����+�B�����
���	����������
�����
�����������×�����+ 

+�B������������	
��
������	
��
���������
��������������������
��
���	������������
�
�����
������
�����
�(�

22 1,5
4,5 5 3 2,5 22,5 7,5 1,5 31,5 m

2
A

�
� � � � � � � � � �

�4�=�����+��������������+
	�����������	
�������������
���
������������������	�
����O��1����������������P�����������

������������������������������������������������������"
��	��������"
 ��
	����
��������	��+
	���������×������ �
�
�
�����)����
����������
	"�	�
����	���	��������
�������������	�����
���)����
��������������)	��
�1���������

�����	��
�
�����
���
	"�	�
�����������
��
���
�����"
�5�	��
�= ���
�= ���3��+1���= ���4 �


